DIRECTORATE OF SCHOOL EDUCATION
TAMILNADU

Class : XII
Time: 1.15 hrs
Total Marks: 180

12JPCM11 JEE PRACTICE QUESTIONS
(2023-24) (TEST-11)

General Instructions:

1. The test is of 1.15 hrs duration and consists of 45 questions. Each question carries 4 marks. For each
incorrect response, one mark will be deducted.
2. Shade your final answer in the OMR sheet provided.

3. Extra sheet for Rough work purpose, will be given by the invigilator.

PHYSICS Q.No. 1 to 15 L Benapeiten QUIT@GET 6Tl f Geflugryid

Q& IT6UoT L (& LA UIITLY. 660T Ml 60T (LN &5\ U 21 & &); 60

1. Find the radius of curvature of convex surface U Gsmeneveiles  @Q@dbsme  Llbugsler
of a plano convex lens whose focal length 0.3 | S{6TelIT60TS

m and refractive index of the material of the 1/2
. Ry

lensis 1.5 ) u—f

A)0.12m B) 0.15m wtf

C) 0.3 m D) w

6Teoor 1.5 Q&MevoTL. FLOG6T Gl 6 6v6dT S 6or

(
03 § @allw gy wHoID eefleilese © L<uj_”f>2
( f

Gaurlesr GUEMEITEY 4,75 B 60T 2
LS LILITEOTS) D) L u—f)
A)0.12 B)0.15
) o ) - 3. The ratio of amount of scattering of two light
C)03m D) oo waves is-1 : 4 Then the ratio of their wave
length be.
2. A small object of length L lies along the
principle axis and at a distance u from a A) 1:2 B) V2:1
concave mirror of focal length fthe size of the
image would be. C) 1:\2 D) 111
A) L(%jm @@ eefl  emevseflear  eeflFFHM6L
w—f eyerefler NS 1 : 4 ererfleh Sieieim s
w+f eLNeLMIGET Galeflal®LD  eerflulledr ojeme6v
B) L( 7 ) BeTmhigefler e &L mears
0) L(u;f) A) 12 B) V2:1
sy C) 1:\2 D) 1:1
D) 1, 1)
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4. A concave mirror of focal length f, is placed
at a distance of d from a convex lens of focal
length. f, A beam of light coming from infinity
and falling on the convex lens — concave mirror
combination returns to infinity. The distance d
must be equal to

A) £+,
B) —f +f,
C) 2f +,
D) —2f +f,
f Gallwl STyl Q& TevoT L 6(H
GWlWmguimeors f, &Gellwl Sy
Q&5 ITevoT L SN QeLeTF O [HIH S d
Q& Temevailev MeUSSLILIL(HeTema).
I mleurT Qs memnevalled (BB S QI(HLD
ep6rfl8: 85 M 6m M WITEOT S &N G 6V60TEIV -
Gulwumyg  @emeooruiley  LIL®H  Wevor(hLD

rFoleum Qg meamevallMm@ GQFeTMML d — 6T
L& LILITeTS

A) £+,
B) —f +f,
C) 21 +f,
D) -2f +f,

5. Find the value of angle of emergence from the
prism. Refraction index of the glass is V3

] 60°
A) 30° B) 45°
C) 90° D) 60°

V3 seflefevas 6y eT6ToT O\ &5 60T L
WU L&SH6r ell(hCasmeuoTlnmerdl (angle
of emergence) & 600185 (H) &.

] 60°
A) 30° B) 45°
C) 90° D) 60°

6. In an experiment to find focal length of a
concave mirror a graph is drawn between the
magnitude of u and v. The graph looks like.

A)

X

\'%

u—

B)

AN
/
C)VT k

u—

D)TJ

u—

u—

GSLWMY earmler Gallll STTD STawil
Grmgemeruiley u WMMID v — ulledr erevor
G185 6H 55 e L Gl alemLILLD
e TWLULGHCUTSI GUEM T LIL_LDITEOTS)
Q& T6ooTIY.(H &S GeU6voTL Ul G&HITMMLOMTETSI
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A)

/

u—

B)

N

u—

©)

D)

N

7. Assertion : A concave mirror and convex lens
both have the same focal length in air. When
they are submerged in water they will have
same focal length.

Reason : The refractive index of water is
smaller than refractive index of air

A) Bothassertionandreasonare correct Reason
is correct explanation for Assertion.

B) Bothassertionandreasonarecorrect. Reason
is not correct explanation for assertion

C) Assertion wrong — Reason true
D) Both Assertion and reason are false

FaMml : @ GSLPIWMY HmID &GelQeveiTen
STHMlev emals&LILRWL CUTE Flo Gallw
STUD  Q&smeoor(heTersl. eumenm  Hiflev
eSS QF WD GUMEID CT Galll STTLD
QUMIGBMSI.

&myevorLD: Hfleor sperfl 6Ml6VE6V 6TE00T6O0T TEOTSI
sTmmler  epeflellevdey  eTeootemeoor el
&60MeY

A) FaHm WOHMID &STyeord Fiflwmers.
SIJeoTld Smmmlmsmer  Frflumeor
aflemg &1

B) SmMm LOMMILD &SITesorld Fflulmeors),
&MyeooTld Smmmimamer  siflulmeor
lem& &L {606V

Q) SaMMI HEUMITETSI &ITFevord &FiflGu

D) FaMmMI LDMMILD &ITF6U0TLD &6UMITEOTSI

8. A lens of large focal length and large aperture
1s best suited as an objective of an astronomical
telescope since

A) A large aperture contributes to the quality
and visibility of images

B) A large area of the objective ensures better
light gathering power

C) A large aperture provides better resolution

D) All of the above

6 meoflulev Q& TemeVBHITE R Ull6L
MAUGELILMWM  QUITHETHE 66T E 6ot
2Fle Glwanyn OO SAHs Semer
SlemellM &5 meoT &[T evoT LD

A) QUL SIemeTUITETSI ST M MDD F MH S
Qsifla] mlemev Qsmevor LNDLUSMS
2 (HOUMEHGUH L MG &EHMSI.

B) QUITHET(HGS @6V 60T & 60T Quiflw
SlemeaTwlene| seflésmemnmenul FMHS
3|66 62 (TH BI85 60) LD UL Q&6
Lm&efl&E&Hmal

Q) uiflu siemeTwmeorg mibs LI 1% meor
2 (HOUMEHGH M

D) G FamMl U |6M60TE S0

9. Two string P and Q of force constant K, and
K, (K, = K;/2) are stretched by a force of
equal magnitude. If energy stored in Q is E
then energy stored in P is.

A)E B) 2E

C) E/4 D) E/2
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(Ky = K./2) 61edtm Blemevuilev 2 eiTer K, LM mild
K, elleng wmmledl Q&meor P mmib Q
eTedTm @\evor(h SHUIMIGET &FLD 6T6vor LOGHLIL]
Q& mevor L elem & LLIMT6L @) (L8585 L1LI(H &) 60T M 60T.
Q allev CFUISEE MaUGSLILILL SLMHM6Y
E ereoflev P ullev GaFUllgs emeudhaLLLr L
SLMHMEVTETSI

A)E B) 2E

C)E/4 D) E/2

10. The mean distance between the atom of iron
is 3 x 107! m and interatomic force constant
for iron is 7N/m. The young modulus of
elasticity of Iron

A)2.33 x 10° N/m?
B)23.2 x 10" N/m?

C) 233 x 10" N/m?

D) 2.33 x 10" N/m?
@ (BLOL 60T 3|60 555565 & T 60 L LILILL
Fyngfl Qsmemeve] LW 3x10"m Sy GlLD.
G QLI 360185 EHSHH L Gl
QFweL(B allems wmMled 7 N/m erevfleb
@) (HLDLI BT WM& 60018 8 ) 60T LD ILITEOTS!

A) 2.33 x 10° N/m?

B)23.2 x 10" N/m?

C) 233 x 10" N/m?
D) 2.33 x 10" N/m?

11. If a spring extends by x on loading. Then
energy stored by the spring is (If T is tension
in the spring and K is spring constant)

A) T2/2x B) T%2K

C) 2x/T? D) 2T%x
SGmeTelley  e@armley Blewm  epetTml
QemeTH&SILGLEUTES x  SemelMm&

alflalemL&Bmal  eTeviley  &@HeT  aflevedlev
Crullggs  maISGHLILLL SLMHMEVTETSI
T ereoTUG &@eT ellevellel QFWELLI(RILD
@wellemnd LmHMILD K & e ellev Lomnledl)

A) T/2x B) T2/2K

C) 2x/T? D) 2T%/x

12. Assertion : steel is more elastic than rubber

Reason : under given deforming force steel is
deformed less than rubber

A) Both assertion and reason are correct
Reason is correct explanation for assertion

B) Both assertion and reason are correct.
Reason is not the correct explanation of
assertion

C) Assertion correct reason wrong

D) Both Assertion and reason wrong

G (D) @@L Juuemy el 5Hs
LS5 5 HeoTemn G\ &5 MT600TL_ Sl

&ITIJ600T LD 2 (Fh&HGMVEHGD  allens
QFWLL(HSSLILIMGLLGCLTSI @ @®LOL

JUUT il GemmeUTs 2 (H&EG 66Vl LD

A) Famml IOMMID &HTJeoord @ reoor(hGLD
FflLMeTgl.  &SMeord  FonMMIM&sTeor
Frflwmenr elemg &0

B) MM LDMMIID &MTyevorld @ revor(hGLo
FlWmergl.  SMTIeorld  FoMmlMsEsmeor
Frflwmeor elleng a0 96v6V

C) FaMmI FlUIMETSI STI600TLD &H6UMTEOTSI

D) oMM LOMMILD &TFeoorld @) Feoor(hGLD
SHeUMTergl

13. The load verses elongation graph for four
wires of same material is shown in figure.
The thickest wire is represented by the line

N\
D
Load
u©H C
B
A
N
7
Elongation
Br_&
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A) OA B) OB

C) OC D) OD

G 2 GeuM&HLI  GILUMIHETITEVITET [HITETS
shlluler WS& UEB (load) QFWELLIEHILD
Gumal gMmU@D BL& nmmild Liehelmameor
aemIULLD ULSH6 STLLULLReTens.
@560 slgnermer &ShUllew GSMOILLIG LD
C&HITLITEOTSI

N\
D
Load
U@b C
B
A
N
e
Elongation
Br_&
A) OA B) OB
C)0oC D) OD

14. Find the decrease in volume of sample of
water from the following data Initial volume
= 1000 cm’. Initial pressure = 10°Nm > Final
pressure = 10°Nm2 Compressibility of water

=50 x 107" m*N!
A)-0.95 cm? B) 0.95 m3
C)-045m? D) -0.45 cm?

Br wrHuler &er  eTtalley  gmHUGID
Genmellemer  LleiTou(pld  SSeU6VS6r 60T
gliLemLulley  SGeTEHEHILLTL  (QLTLDL
L6 = 1000 cm® SLJIDL SWSHSWD =
105 Nm2 @mIH W& = 106Nm2  Bifledr
(P&ESH & = 50 x 1071 m2N-

A)-0.95 cm? B) 0.95 m3
C)-045m? D) -0.45 cm?

15. Two mercury drop each of radius r merge
to form a bigger drop. The surface energy
released is

A) 1.657%rS

B) 1.657r*S

C) 1.65xr’S

D) 1.65nrS

r QUL Q&Meorl @ueoor() UMHTF
sleflgem eernilemetorbag Quflu sieflwims
ToISHMmE. @nblshalley Qeueflal LD
LTLIL @bMmmedledT LG LILImeTs!

A) 1.652rS

B) 1.65nr’S

C) 1.65xnr’S

D) 1.65mrS

CHEMISTRY Q.No. 16 to 30

16. The dark purple of colour of KMnO,
disappears in the titration with oxalic acid
in acidic medium. The overall change in
the oxidation number of manganese in the
reaction is

A) 5

B) 1

C)7

D)2
|Lblev wl_asaj,@e;i_) gg.,és;rreﬁ]é_s _@4@6\)5@5
KMnO, &6mpFaIL 6T SIb LMI&HELD GUME!

& 2615M  BIMWD emmuld  ellemeruliley
INMTHIGETF 6T Bl&HET 8&HerNRCermm  6reor

INE
B) 1
C)7
D)2

17. While titrating dilute HCl solution with
aqueous NaOH which of the following will
not be required?

A) Burette and Porcelain tile

B) Pipette and distilled water
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C) Clamp and phenolphthalein

D) Bunsen burner and measuring cylinder
Brss HCl SenpoFauler NaOH SHemyFev
CFISHS STLUMT&HGLD CUMSI, §Lhd 860
6TIHS R60TM CHMEULILIL TSI

A) NwQrL mmid Likismer 5830

B) LIUIQUL LoMMILD eUMem6y euLg BT

Q) seuadl LnmmILD LI et mevLi g eSesT

D) Yeorgedr oL WLmHmib emefl(h&
GLema

18. A, B and C are thee biomolecules. The results
of the tests performed on them are given
below.

Compound molisch  Barfoed Biuret

Test Test Test
A Positive  Negative Negative
B. Positive  Positive = Negative
C. Negative Negative  Positive
A, B and C are respectively

A) A—Glucose B- Cellulose C- Albumin
B) A—Lactose B— Glucose C- Albumin
C) A—Lactose B— Glucose C- Alanine
D) A—Lactose B- Fructose C-Alanine

A, B lommih C eTedTm 2 UIFeLn 6V & Gn /0I5 60)6T

M6UEHS BLESLILILL CFTHM60T (LNIY 6| & 6T
GG HTLILIL(He6iTeTeoT.

Lmedley umyeum@® emLIW, L
C&FMS 60 60T CHFMH 06T GC&FITH 6D 60T
A. umerdlL g6l QPB&HLIg6N QBSHL L6
(+ve) (-ve) (-ve)
B. umenSlL g6l Lmer9L 196l QBH&L 1961
C. QB&HLIQ6) QB&LIg6r  LimerdlL g6l
A) A- B- Cc-
GEBCHTN QEFLNBCEITEN |6V LAl 6T
B) A— B- Cc-
MSHCLIT GEBC&HMeV 3jeuLLdleor
Q) A- B- Cc-
UMHCLMeN GHEHESHTEN 96V60)60T60T
D) A- B- C-
LTS GLITEN L1y&GLITerv 9| 6V60)60T60T

19. In chromatography which of the following
statement is incorrect for Rf?

A)Rf Value depends on the
chromatography

type of

B) The value of Rf can not be more than one
C) Higher Rf Value means higher adsorption

D) Rf value is dependent. on mobile phase

aueooreoorLILNflemas  wemmuiley  GBLpasevorL
6Th& FnMMI Rf 83 QILITMIGS S &6UMTEOTSHI?

ARf T WHIL  euevorevor LI lem s
(WenMUI 6T euemSH MWL QUIMTMIS S

B) Rf 60T LO&ILIL] epedtemdm el & &HLIOME
QBSHS PTG

Q) Rf 6T WHLUL AB&FlEGL CuUTs
LUTLIL& &HelisH6) 35 &6 @GLD.

D) Rf 60T LD&\LIL| B&HHLD BlemevemLnem Ll
QUTMHSHS&H

20. 10.0ml —of 0.05M KMnO, solution was
consumed in a titration with 10.0ml of given
oxalic acid dihydrate solution. The amount
of given oxalic and solution is g/L.

A) 17.55
B) 15.75
C) 1575

D) 1755

Q&ETOHSELILL(eter 10 Wed LIS
5T E gflev Hengsaler 10 e
60T Sjemaleitem  0.05M  KMnO, &6emJ&ev
SILUMISESSlsr 2 MlepsFliu@mmn Ul
PGS LIS 8560mels 9Llevs s 60T
1Bl6m M g/L.

A) 17.55
B) 15.75
Q) 1575

D) 1755
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21. The normality of H,SO, in the solution
obtained on is mixing 100 ml of 0.1M H,SO,
with 50 ml of 0.1 M NaOH. is N.

A)0.01
B) 0.001
C)0.1
D) 0.05

100 ml, 0.IM HSO, &enggeuLer 50 ml,
0.1 M NaOH &empggenev CFI&HEGLL GUMS
F L& GLD &6 [J&606V H_SO,-eor
BTl N

A) 0.01
B) 0.001
C) 01

D) 0.05

22. An alkali is titrated against an acid with
methyl orange as indicator, which of the
following is a correct combination

Base  acid

A) Weak Strong
B) Strong Strong
C) Weak Strong

D) Strong Strong

End point
Colourless to pink
Pinkish red to yellow
Yellow to pinkish red
Pink to colourless
R0 HTTHHOTFM L0608 8 6M [T VIL_60T
QLSS 6V LT EHG Bl D MBIG ML G600 U

LweTU®SSH &SIl UMisGL  Cums
GELDG600TL 6T[H G @)6m6vor &Il WIMeoTsI?

P96 Blemey
A) auedlemin euedlemln BIMLMHM &6 FF6060

ST gudlevld

GoDhs WEs  QAOGhS GerehFlauly
BImLD
B) eucllemin euedlemin @ emehFleuliLilev @b &S
P2 1055 LDEHF 6T BIMLD

Q) euedlemin euellemln DEHEFET BIMS S 0 [BIH S
GMHS W&EsS @ eTehFeuliL Blimid

D) auellemin euedlemin @ 6mehP eulILNedBHS!
T\F:Y: Ta\P:Y: BlIOLMHM 860 T&F60

23. Which one of the following are/s is a sulphide
ore

A) Azurite

B) Argentite
C) Magnetite
D) Pyrargyrite

GLEHETL HMSIH&16 FeoemL(h SHMSI
6TI?

A) QTQ60TeM L L
B) QLbS &L
C) GLO&6oTetIL L
D) e LIGTMeVTen &L

24. In which of the following functional group
isomerism is not possible?

A) Alcohols B) Aldehydes
C) Alkyl halides D) Cyanide
& LD & 856007 L 6Th & lem60TE Q& W6V

QBMTGHEHG LDMTHMIUILD HemnL WM.
A) S,60HAMITEY

B) 2560136000 ()
C) 3J6VEM &Y D TEn 6V (h)
D) &Fwleneor(h)

25. The compound having only primary hydrogen
atom is

A) Iso butane

B) 2, 3-dimethyl butene

C) Cyclohexane
D) Propyne
e 1fl o 6v0T WL AL 83607 3| €501 & G 61T

L (GO Q& mevoTL. G&FJLOLD
A) 96FT Lu,l GL 6ot

B) 2,3- 60 LG6mM&H6V LWL 1o 60T
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Q) auem6TW Qe & @& 60T
D) LG TLI6mLI6oT
26. The IUPAC name of Compound
|
CH,—C — CH,— CH,— CH— CH,

I
CH,-CH,

CH CH,-CH
| 2 3

A) 2, 5-diethyl — 4-methyl hexane
B) 3, 3, 6 — tri methyl octane

C) 2, 5, 6 — tri methyl octane

D) 3, 5 — dimethyl -6-ethyl heptane

GG Q&EMHS&HLLL(MB6TeT  GFFLNS S 60T
IUPAC QUIWIIT WImg!?

C|H3 ClHZ—CH3
CH,—C — CH,— CH,— CH— CH,
I
CH,~CH,

A) 2,5-e0
Qam & GF eor

T 560056V -4-155 60156V

B) 3,3,6 — 1960 LG 605560 21,8 GL_60T
Q) 2,56 —19.6007 L& 601560 2,8 GL_60T
D) 3,5-60)L_ L35 6056V -6- 6T&H6V Glaun LIGL_60T

27. The IUPAC name of the following compound
is

/

A) 5, 6 — diethyl -8- methyl dec-6-ene
B) 5, 6 — diethyl -3-methyl dec — 4-ene
C) 6-butyl -5- ethyl -3- methyl oct -4-ene

D) 4, 5 — diethyl -8-methyl dec — 6-ene

GLpE&SHe00TL GFTINGH 60T IUPAC QLIWF

/

A) 5,6-60L 61556V -8-15856Mm 56V GL_&5-6-FF 60T
B) 5,6-60L 6T&H)6L -3-1L08 60056V G\L_&5 -4-FF 60T

Q) 6L ML) -5-6THFH6L -3- LGS 60
& L_-4-[T 60T

D) -4,560L 61556V -8-15560560 G\L85-6-FF 60T

28. How many ¢ and m bonds are there in the
molecule of tetracyano ethylene?

A) 96 and 9= B) 56 and 9nt
C) 96 and 7=n D) 56 and 8w
QL L JTEUCETIT 615 5 6560T 6T60TM GF [J LD & F) 6V
T5HMET o WMMID 7 LlemeoorliL &6
D _6IT6IT60T?

A) 96 LOMMILD 97 B) 56 LDMMILD 9
C) 96 LDMHMILD 77 D) 56 LomMILD 8n

29. The correct decreasing order of priority for
the functional groups of organic compounds
in the [IUPAC system of nomenclature is

A)~COOH, ~SO,H, -CONH,, -CHO

B) -SO,H, -COOH, ~CONH,, -CHO

C) -CHO, -COOH, -SO_H, -CONH,

D) ~-CONH,, -CHO, ~SO,H, -COOH
IUPAC Quwifld (Wpemmuilev
GlLL Ul b eter 6l6m60TF G &F LI 6V
QsT&H&efler Fiflwmer @mmG eulflens

A) -COOH, -SO,H, -CONH,, ~-CHO

B) -SO,H, ~-COOH, ~CONH,, -CHO

C) -CHO, -COOH, -SO_H, -CONH,

D) -CONH,, ~CHO, ~SO,H, -COOH
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30. Which of the following does not show
geometrical isomerism?

A) 1-4-dichloro — 1-pentene
B) 1,2-dichloro-1-pentene
C) 1,3-dichloro-1-pentene
D) 1,1-dichloro-1-pentene

GLpsevoTL. GFJINMmIGETI6L aUlgel WmMHIWILD
@6VeVIME GFILOLD

A) -1,4 L &CeTm@rIT -1- QLI60TLC 60T
B) -1,2 emL&G6mmGim-1-G)LI60T LR 60T
Q) -1,3 L &GCemmGm-1-Q LI60TLC.60T

D) -1,1 60L& Gemm @I IT-1-G) LI60T LR 60T

MATHS Q.No. 31 to 45

31. A ladder 20ft long has one end on the ground
and the other end in contact with a vertical
wall. The lower end slips along the ground. If
the lower end of the ladder is 16ft away from
the wall, upper end is moving A times as fast
as the lower end, then A is

A) 173

B) 2/3

C)4/3

D) 5/3
20 919 HETNETET 6 6760011 Q& MG 5 S MeoT
Falfld FTUSS  meusHSLILL(H6Tens.
geooflufledt  9IQLILGHD  Seumnled b
16 919 QFTemevalled @QHEHEGLD CUTE,
geooflWiledr GOV  (LNEmETWITEOTEH LD
wenerulledr GoaumiHemad GLIMeL A LOLTEIG
GaUs 0TS HHHEHMS! 6160160 A-60T DG LIL]

A) 1/3

B) 2/3

C) 4/3

D) 5/3

32. A kite is moving horizontally at a height of
151.5 m. If the speed of the kite is 10m/s,
how fast is the string being let out, when the
kite is 250 m from the boy who is flying the
kite, the height of the boy being 1.5 m?

A) 4 m/s
B) 8 m/s
C) 16 m/s

D) 32 m/s

10  W/el GCeaussHev @ UL LLD
saoguledmbgs 1515 1S 2 WISH6V
LM&EHRMG. LI LSS @) Ul& G LD & mieueot]eor
2 Wy 15 1§ wLHMID  NEFEF M6t 6T
BlemeuwlledBBES LIL L SH60T Q5 Temeve] 250
BSLLDTe: @SS CuUMal HTedlsr Ceussld
LTmID efsLD

A) 4 1S/al
B) 8 LS/a
C) 16 /el
D) 32 /&N

33. Aman of height 2m walks directly away from
a lamp of height 5m, on a level road at 3 m/s.
The rate at which the length of his shadow is
increasing is

A) 1 m/s
B) 2 m/s
C)3m/s

D) 4 m/s

515 2 WrsHev 2 aterm Llerellend: & edmh sl
2 S 2 wgeTer eflger ellengsemns el ()
alevd FReLGFHemT LUTMHUI HSHIHLD
Geusd 3 1S/l erevflev  2yLbL06vl & 60fl 60T
Blpedleor HeTd 2 Wb afsLd

A) 1 15/6f
B) 2 L&/
C) 3 /e
D) 4 L§/al
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34. Water is dripping out from a conical funnel
of semi-vertical angle /4 , at the uniform
rate of 2cm?®/s . Through a tiny hole at the
vertex of the bottom when the slant height
of the water is 4 cm. If A cm/s be the rate of
decrease of the slant height of the water, then
the value of 40mV2A must be

A) 10

B) 20

C) 2V5

D) \20
QR DT ey 2 F& GoHMmevorld n/4
6T60TS. @& DLNNBHS 2 Q&F.15° / &l eTeiTm
im0 BT QeueflCumSmE. Sl
FTIWWILD 4 QFLS 9856 @QmeEE&WL CUTS
Brlesr smywrd Gemmub efsb A Q&S / el
6T6vf160 407m\2\-60T DG LIL

A) 10

B) 20

C) 2\5

D) V20

35. The set of all values a for which the

vatd N —3z+1og5)

function f(z) Z[ =g !
decreases for all real x is

A) (—o0, 00)

oo,

0|45 C]

D) [1, )

vya+4 .
flz) = 1a 6TE0T M
5trr|;rurr66rgj 6T6LGVIT Qmm@msmaa@as@m
G6emMmU]LD B:ITI]'IJITBS @qbaa@m 6T6of16L a — 60T
LG LIL| 86T 2_6T6IT 856007 LD

B) [—4, 3=

(z°— 3z +1logh)

A) (—o0, )

B_Q\/ﬁ]U[Loo)

B) [—4,

Q) [—4,5—@77]%2,00)

D) [1, )

36 Iff(w) = (ab—bz—2)x+f(cos4(9+sin49)d6

is decreasing function of x for all x e R and b
€ R, b being independent of x, then

A) ae(0, V6)
B) ae(—-\6, V6)

C) ae(=6, 0)

D) None
6TV QWQWeETTT LGB EBSHESLD
flz) = (ab—bz—2)x+f(cos4t9+sin4t9)d(9

6T6OTM ML @MMBIGLD FmiyL (b eTeoTLIS X-&
FUITSSI) 61601160

A) ae(0, V6)
B) ae(-V6, \/6)
C) ae(-6, 0)

D) @eummlev 6Ts16)L8l6L6m6V

37.If f(x)=tan”!(sin x + cosx)’ is an increasing
function, then the value of x in (0, 2m) is

T e (%,%T) U (%7%{) . Then the value of a
+ 10b + 100 ¢ + 1000d must be

A) 8410
B) 8510
C) 8610
D) 8450

f(x)=tan~!(sin x + cosx)’ 6TeOTLIG gMILD &FTIL]
ar b7l'> <ﬂ dn)

WmMID  (0,2m)-6V xe<4 1 14
eT6ofl6v a + 10b + 100 ¢ + 1000d 60T DG LIL
A) 8410
B) 8510
C) 8610

D) 8450
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38. The

interval to which b

may
not belong so that the function
_ 12
f(x)=[1——v21bf?b (2 +52+6) s
increasing at every point of its domain is
A)[-7,-1)
B) (0, )
O)[2,2.5]
D) [3, 5]
flz) = 1—%(z2+5x+6) 6T60TM

FOTUMTOTE ST FMIUSSTH gmild
FOyUMS @UHGSWL GUMEl b er WHIIL
@6LeVTE @ 6emL a6l

A) [-7,-1)

B) (0, 1)

Q) [2, 2.5]

D) [3, 5]

39. Let a, B are the roots of ax*+bx + ¢ =0 then
im 1 —cos(ax’+bx+c) g
X—a (X_ a)Z

A)0

B) §(a—BY
) 4 (a-BY
D) ~L(a— By

o, B 6T6OT LIGOT ax? + bx + ¢ = 0 6T60T M & LOGOT LIITL_LQ 60T
QeUMEIGET eTeofley i 1 —cos(ax2+;bx+c) et
LD@DLI (X_a')

A0
B) 3(a—BY
Q) %2(a —BY

D) ~&(a - BY

11

40, 1w X(1+acosx)—bsin x

xX—0 X3
1 —3

A) g
5 3

B) 9%
-5 —3

C) 5y

D) none

wm  x(1+acosx)—Dbsin x

x—0 3
X

WGLIL86T (penmCul

D) 6T&6LD @)6V6M6V

41.1F ', 729*—243*—831X+9‘+3"—1

=1, then a, b are

=1 eTevflev a, b &erfledr

X

=k[logM]*

then the value of KM + MN + NK is

A) 54
B) 90
C) 45

D) none

im 129°—243*—81*+9*+3*—
0 3

X—

X

L= k[log M[¥

6T60fl6b KM + MN + NK — 60T DS\ LiL]

A) 54
B) 90
C) 45

D) 6T&I6)LD @)6V6DI6V
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is equal to

) n(n2+ 1)

im 100 99sin x
43. The value of ™™, [sinx]+[ = ] where

[.] denotes greatest Integer function
A) 197
B) 198
C) 199

D) None

[] eTedTLISI WOLIQLIQH (LD 6T600T FITL| 6T6ufl6v,
lim [ 100 ]+[ 99sin x ] . LD@I_I
0 | sin x X -eor 4

A) 197
B) 198
C) 199

D) 6T&I6LD @)6V6I6V

4.1 [min(y'— 4y+ 1)S10%| is equal to ([]
denotes greatest integer function)

A)5
B) 6
Q)7

D) does not exist

[] eTedoTLIS! WOLIQLIH (LD(LD 6T600T & ITITL] 6T6vtl6L,
Q':o[min(yZ— 4y+ 1)51117"] -60T LOGILIL

A)5

B) 6

Q7

D) 618160 @)6L6Mm6V

45. ABC is an isosceles triangle inscribed in a
circle of radiusr . [FAB =AC and h is altitude
from A to BC, then pim 0% is equal to — (A
area P - perimeter)

i 1
A) 39, B) 647
1 1
C) 1287 D) 516,

r QLIWETET L LSHM@G6T  3emluD
AABC 6(H @ @HFLOLGS (P&HESHMeroTD. AB =
AC LommIh 'h' eTedTLIg A-UleS(BHE& BC, &G
AUTWLILGWD G55 G&HIMLIQeT 2 UIFLD
aafler ni, B -er WHOL @ Lgiy P -
& (DD6T6Y)

1 1
A) 39, B) 64

1 1
C) 128 D) 516,
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